N

Quiz 4

September 9, 2016

Show all work and circle your final answer.

1. Sketch a graph of a function f satisfying

Jig f(0)=1
Jig (0) =1
f0)=0

\

(a) What is hl,% flz)? A
(b) Is f continuous at Z = 0?7 Why?

No, ‘oecoose U f(x) + (o).
2 —sf = 1 el
9. Consider f(x) = 4 #HLn) |
(x —1)° we

At what values (if any) is f(z) discontinuous? Why?

£60) s cohnuons ok all X#1 - since 3in (1) and Polljnowuals
are,  combinupus. Wk check o w=\"

x|~ X=21"

lim £x) = lim y2-sin(m) =1 = 12- sint-| =O*§

lim . Foc) = iy, O
%l 2+ co
3. Let f(z) =

conhinuoLs

== J;U) ok x=\

Tz <1

N

For what value(s) of ¢, if any, is f continuous everywhere?
860 1§ continuous ok all X# we Check at x=1:

lim £ = Lw w2iex = |tC

X1~ X1
X=>1 x5t
We want He=EC
- =G
| =

lm Plix)= Um o= 2= R
+

+Z

L never vk, o F IS never confinuous
at ¥l
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